
 

             SPL-    13/14 = 93%   
     Transition of 1-Dimensional Origin to 2-Dim Result .....11  

a. Origin Focus  
Origin: 1-D Rigid object(s)........................................... 6 
Result: 2-D Rigid (composed of connected 1-D objects) 

 splay split spline splice splint splinter 

b. Result Focus (impact of fluid stream) 
Origin: 1-D Fluid (perceived as stream)............................5 
Result: 2-D Fluid (random impact residue, usually on 2-D) 

 splotch splash splat splatter splutter 

c. Metaphoric fluid transition: spleen   splurge ......2 

Residue:     splendor .......1 
 


